vérification

7/

Multiplications 3 étapes

218 x 4

§¢

vérification

5

Multiplications 3 étapes

109 x 5

N

vérification

1

Multiplications 3 étapes

270 X 3

vérification

38

Multiplications 3 étapes

205 x4

pA
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correction correction

109 x5 =(100x5) + (9 x5) 218 x4 =(200x4) + (10x4) + (8 x 4)
109 x5 = 500 + 45 218 x4 = 800 + 40 + 32
109 x 5 = 545 218 x4 = 872

correction correction
205x4 =(200x4) + (5x4) 270 x 3 = (200 x 3) + (70 x 3)
205 x4 = 800 + 20 270x 3 = 600 + 210

205 x4 = 820 270 x 3 = 810
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vérification

5

Multiplications 3 étapes

190 x 3

—

vérification

Multiplications 3 étapes

136 X 5

vérification

Multiplications 3 étapes

307 x 3

;
Y

1

vérification

Multiplications 3 étapes

93 x5

vAg
<] >
PTA
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correction

136 x5 =(100x5)+ (30x5) + (6x5)
136 x5 =500 + 150 + 30

136 x 5= 680

correction

93 x5=(90x5) + (3x5)
93x5= 450 + 15

93 x5 = 465

correction

190 x 3 = (100 x 3) + (90 x 3)

190 x 3 = 300 + 270

190 x 3 = 570

correction

307 x 3 = (300 x 3) + (7 x 3)
307x3= 900 + 21

307 x3 = 0921
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vérification Multiplications 3 étapes vérification Multiplications 3 étapes

2 8
0 451 x 2 46 x 3

vérification Multiplications 3 étapes vérification Multiplications 3 étapes

9 0 230 x 4 2 304 x 3
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correction

46 x 3 =(40x 3) + (6 x 3)
46x3 = 120 + 18

46 x 3 = 138

correction

304 x 3 = (300 x 3) + (4 x 3)
304x3= 900 + 12

304 x 3 = 912

correction

451 x 2 =(400x2) + (50x2) + (1 x 2)

451 x 2 = 800 + 100

451 x 2 = 902

correction

230 x 4 = (200 x 4) + (30 x 4)
230x4 = 800 + 120

230x4 = 920

+

2
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vérification

Multiplications 3 étapes

259 x 3

vérification

0

Multiplications 3 étapes

235 x4

vérification

Multiplications 3 étapes

170 x5

vérification

38

Multiplications 3 étapes

210 x 4
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correction correction

235x4 =(200x4) + (30x4) + (5x4) 259 x 3 =(200x 3) + (50 x 3) + (9 x 3)
235x4 = 800 + 120 + 20 259 x 3 = 600 + 150 + 27
235x4 = 940 259 x3 = 777

correction correction
210 x4 =(200x 4) + (10 x 4) 170 x 5 = (100 x 5) + (70 x 5)
210 x4 = 800 + 40 170x 5= 500 + 350

210 x4 = 840 170x 5= 850
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